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Method of Steve

• Correction use D0 sweighted data and MC

• 𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐 fit function

• 𝑓 𝑡𝑟𝑒𝑐 MC 𝑡𝑟𝑒𝑐 distribution

• 𝑔(𝑡𝑟𝑒𝑐) = exp(−𝑡𝑟𝑒𝑐/𝜏fi𝑡)/ exp(−𝑡𝑟𝑒𝑐/𝜏𝑠𝑖𝑚)

• 𝛽(𝑡𝑟𝑒𝑐) = 1 + 𝛽0𝑡𝑟𝑒𝑐
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𝛽 = 1 + 𝛽0𝑡𝑟𝑒𝑐
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Comparation of D0 data and MC
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Efficiency of D0 data compare with MCTau distribution of D0 data compare with MC



𝛽(𝑡𝑟𝑒𝑐) = 1 + 𝛽0𝑡𝑟𝑒𝑐
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Fit function:   𝑎 ∙ 1 + 𝛽0𝑡𝑟𝑒𝑐
𝑎 = 0. 83 ± 0.01
𝛽0 = 0.228 ± 0.012𝑝𝑠−1

𝜒2/𝑛𝑑𝑓=207/18

𝜀𝑑𝑎𝑡𝑎
𝜀𝑀𝐶



𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐
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𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐
𝑓 𝑡𝑟𝑒𝑐 = keyspdf of MC 𝑡𝑟𝑒𝑐 distribution
𝑔 𝑡𝑟𝑒𝑐 = exp(−𝑡𝑟𝑒𝑐/𝜏fi𝑡)/ exp(−𝑡𝑟𝑒𝑐/𝜏𝑠𝑖𝑚)
𝛽 𝑡𝑟𝑒𝑐 = 1 + 𝛽0𝑡𝑟𝑒𝑐

Fit result
𝜏𝐷 = 0.416 ± 0.009𝑝𝑠



Now doing

• D0 lifetime fit use uneven bin result
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backups
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